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(6x + 4)(6x + 4)(4x — 5) (B3x— 3)(x* — 2x— 3)— (6x — 4)(5x — 6)
(6x— 4)(3x” + x+ 2) — (5x + 2)(4x + 6) (6x° + 5x— 1)(2x— 3)— 3 x 2x+ 3
2%+ (5—x)(6x + 3)3x + 5) (2x° — 4x + 6)(6x — 4) + 4 x 2x + 4
(Gx+ 6)(6x + 1)(dx+ 2) (2 = 3x+3)2x+3)+ 1 x 6x+ 6
(2x — 6)(2x + 2)(5x + 1) (2x + 4)(4x* — 4x — 6) + (6x + 6)(3x — 3)
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(6x + 4)(6x +4)(4x—5)
144x° + 12%° — 176x — 80

(6x— H)(3x® + x+ 2) — (5x + 2)(4x + 6)
18x> — 26x* — 30x — 20

2x+ (5 —x)(6x+ 3)(3x+5)
—18x + 51x° + 182x + 75

(3x + 6)(6x + 1)(4x + 2)
7250 + 192x% + 102x + 12

(2x — 6)(2x + 2)(5x + 1)
20x° — 36x% — 68x — 12

EEN NG BL

(3x— 3)( — 2x — 3) — (6x — 4)(5x — 6)
30 — 39x% + 53x— 15

(6x% + 5x— 1)(2x— 3) —3 x 2x + 3
12 — 8 —23x+ 6

(2% — 4x+ 6)(6x — 4) + 4 x 2x + 4
12x° — 32%% + 60x — 20

(O —3x+3)2x+3)+ 1 x6x+6
26 — 3% +3x+ 15

(2x + 4)(4x* — 4x — 6) + (6x + 6)(3x — 3)
8x> + 26x> — 28x— 42
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